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‘ M.Sc. 3rd Semester Examination, 2012
ECONOMICS
- PAPER—ECO-303(E)
Fi ulLMarks 40
Tlme 2 hours
The figures in the right-hand margin indicate marks

Candidates are required to give’ their answers in their
own words as far as practicable

Illustrate the answers wherever necessary

Special Paper : ( Econometrics - 111 )
GROUP - A
1. Answer any five questions : 2x5

(@) What are the basic differences between CLRM
and GLRM ?

(b) Formulate a model for prediction of m future values
of y for glven values ofx. ‘

(¢) What do you mean by seemlngly unrelated
regression ? -
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(d) Incase of heteroseedastic diSturbance form the P
matrix such that P Q P' =] (where Q is the
var-cov matrix of disterbance term and P is the
transfonnation matrix). | |

(¢) Whatis FIML ?
(/) What is simultaneous equation bias ?

(g) Give an example of an under identified equation .
in a simultaneous equation system.

(W) WhatisILS ?
() Whatissimultaneity test ?

() ‘What are the uses of prmcnpal componernt
analysis ?

GROUP —-B

Answer any fwo of the following : L 5x2

2. What do you mean by error components model ?
Indicate the process of estimation of parameters of error
components model.
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(3)

Bﬁ” Y + Blz yZ‘z‘+ Tu x“+ Yia X0 Uy

’Bl' Y + BZZ:y2¢+ Y21 xu+ Yo %57 Uy,

check the identifiability of the above simultaneous
equation system with the restrictions y,, = 0 and
™m=0

Discuss the 3 SLS estimation procedure.
Explain why OLS estimator is inconsistant in
simultaneous-equation system.
GROUP—C
Answer any fwo of the following : 10 x 2

Discuss the procedure for estimating the parameters in
GERM and prove that the estimated parameters are
BLUEs. '

Determine the elements of € (the variance covariance
matrix of the reg_ﬂesjsian disturbances): when the
disturbances are crossssectionally 'heterose_edastic>and
time-wise autoregressive:.
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8. (a) Explain with a suitable example how restriction
on covariance can be used to identify equation.

(b) Y B12 2t + Yll Xlt+ 712 X2l+ ult
ﬁ2l 1z * YZI Xll~+ 722 X21+~u.21

100 07 10 20
X'X=/05 0| Xr=20 10
0 010/ |30 20

For the above model find the 2 SLS estimates of -
the structural parameters of the first equation.

9. (a) Explain the method of principal component
analysis.

(b) Explain the LIML estimation procedure.



